Fiscal and monetary policy effects

In the long run, saving supply and investment
demand determine the real interest rate in global
financial markets.

The expected inflation rate is determined by actual
inflation experience, which in turn depends on the
growth rate of the quantity of money that results
from the Bank of Canada’s actions.

So 1n the long run, the Bank of Canada influences
the nominal interest rate by the effects of its
policies on the inflation rate. But it does not
directly control the nominal interest rate, and it has
no control over the real interest rate.

In the short run, the Bank of Canada can determine
the nominal interrest rate and take actions to set the
overnight rate. But to do so, the Bank must
undertake open market operations that change the
quantity of money. It i1s by changing the quantity of
money that the Bank of Canada achieves its target
for the nominal interest.
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How the Bank of Canada raises the interest rate?

Suppose that the Bank of Canada fears inflation
and decides to take action to decrease aggregate
demand. The Bank of Canada announces that it
will raise the short-term interest rate. How does the
Bank achieve this goal?

The Bank sells government securities in the open
market. This action mops u bank reserves. Some
banks are short of reserves and seek to borrow
reserves from other banks. The overnight rate rises.
With fewer reserves, the banks make a smaller
quantity of new loans each day until the quantity of
loans outstanding has fallen to a level that is
consistent with the new lower level of reserves.
The quantity of money decreases.

The demand for money determines the quantity of
money that will achieve the Bank of Canada’s
interest rate target. The Bank could, if it chose, fix
the quantity of money and let the interest rate and
adjust the quantity of money to the level that
makes the chosen interest rate the equilibrium rate.



Interest Rate Changes IAIoNS 0.4 L=

Interest rabe (percent per pear) Interest rate (percent per year)
71 Mms, M5, o 1 M3, Ms,
' Interest
Fate Ganget
, 8 6 “i‘.‘a.-m
nmerea
Crate
B lirremerisaccie saaciiiia " E I ".
,11|- "E'_'_ : f
D e Bark -1 Bk o
| of Canada MD | Canada MD
3 | docreases 3 | Imcreases
71| the quantity the quantity .
] ; Lﬂm of money 2
 — : 1. ‘ "
] 3 100 102 104 1] 98 100 ! 104 |
Quantity of money (billions of dollars) Quantity of money (billicns of dollars) 1'
{a) The Bank of Canada tightens () The Bank of Canada sases 1

) The current interest rate is 5 percent a year, and € the Bank of ) The current interest rate is 5 percent a year, and @) the Bank ¢
Canada’s target is 6 percent a year. To raise the interest rate to the Canada's target is 4 percent a year. To lower the interest rate to
target. the Bank of Canada must sell securities in the open market the target, the Bank of Canada must buy securities in the open
and ) decrease the quantity of money to $98 billion. rearket and @ increase the quantity of money to $102 billion.

Global economics : monetary policies



How the Bank of Canada lowers the interest rates.

If the bank fears recession, it acts to increase
aggregate demand.

The Bank buys securities in the open market. This
action increases bank reserves. Banks now seek to
lend reserves to other banks. With more reserves,
the banks increase their lending and the quantity of
money increases.

The ripple effects of the Bank of Canada’s
actions

Suppose that the Bank increases the interest rate.
What happens next?
Three main events follow:

¢ Investment and consumptin expenditure
decrease

e The Canadian dollar rises, and net exports
decrease.

e A multiplier process induces a further decrease
in consumption expenditure and aggregate
demand.
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The dollar and net exports

A rise 1n the interest rate, other things remaining
the same, means that the Canadian interest rate
rises relative to the interest rates in other
countries. Some people will want to move funds
into Canada from other countries to take
advantage of the higher interest rate that they can
now earn on Canadian bonds.

When people move mney into Canada, they buy
Canadian dollars and sell other currencies, such
as U.S. dollars or Japanese yen. With more
Canadian dollars demanded, the price of the
Canadian dollar rises.

The higher price of the Canadian dollar means
that foreigners must now pay more for Canadian-
made goods and services. So the quantity
demanded and the expenditure on Canadian-
made 1tems decreases. Canada’s exports
decrease.

The multiplier process.



Taking these effects together, investment,
consumption expenditure, and net exports are all
interest-sensitive components of expenditure.

So a rise in interest rate brings a cedrease in
aggregate expenditure, which decreases incomes,
and the decrease in income induces a decrease in
consumption expenditure. The decreased
consumption expenditure lowers aggregate
expenditure. Real GDP and disposable income
decrease further, and so does consumption
expenditure. Real GDP growth slows , and the
inflation rate slows.

If the Bank lowers the nominal interest rate , the
events just described occur in the opposite
directions, so real GDP growth and the inflation
rate speed up.
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Exercises

1. Suppose that the government of Canada increases its expenditure on high-
ways and bridges by $5 billion in 2002. Explain the effect that this expenditure
would have on:

a. Autonomous expenditure.

b. Aggregate demand.

c. Real GDP.

d. Induced transfer payments.

e. The government's budget surplus.

2. Suppose that the Bank of Canada forecasts a recession in the near future.
What change in monetary policy will avoid a recession? Explain the effect of
the Bank of Canada’s policy on:

Interest rates.

The quantity of money.

Investment.

The foreign exchange value of the Canadian dollar.

Aggregate demand.

The price level.

-0 an o

3. Explain why monetary policy is used more often than fiscal policy to stabilize
the economy.

4. Explain the effect of a decrease in the quantity of money on aggregate
demand. What determines how big the change in aggregate demand will be?

5. If the government of Canada wanted to increase investment, would the gov-
ernment change its own fiscal policy or encourage the Bank of Canada to
change its monetary policy? Explain why. What effect would the policy
change have on the price level?

6. If the government of Canada wanted to increase exports, would it change its
own fiscal policy or encourage the Bank of Canada to change its monetary
policy? Explain why. What effect would the policy change have on the com-
position of aggregate expenditure?
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